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3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
Ll 1 |EE = EHE X BEAR X (ELER + fEER + TR + METER)
8.340 m3 = 1.500 * 2.780 * (2.000 + 0.000 + 0.000 + 0.000)
HiE IR 1 |EE = EHE X (EILER + REER + RIEER + MELER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
RAZAE IH 1 |&E = #EHE X (ELER + RIELR + RIELER + MELER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
AR IH o |EE = EHIE X (ELER + RIELER + RIELER + MELER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
FEHIE DR L 1 [ = (GRENE X B4 - EFmfE) X LTER) + (EAE X BEA X (RELEE + RIBLER + MELER))
6.784 m3 = ((1.500 * 2.540 — 0.418) * 2.000) + (1.500 * 2.540 * (0.000 + 0.000 + 0.000))
Vi Uy 1 [BEEEEHEE = EHE X BEA X (ELER + KRIELER + AWLER + MELER)
(& dEH)) 0.150 m3 = 1.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
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(b)) 0.150 m3 = 0. 150
V- SR 1 |[BdE = R R
GRH)) 8.340 m3 = 8. 340
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RETEEHEES - 19000300
IEE2 | oo | I@E&% [A®AEDCNS) 700 i-t&= [ o6 | A—r&% [osmomk/srth
Je&i FeR ) = B i - N P 7 i S SV

ESaln 1 |[HE = (ETER + REVIER + LR + fEER) + (GEFFREE - S@maiE) < MEFRETE)) X owiEk
12.200 m = ((6.100 + 0.000 + 0.000 + 0.000) + ((5.850 — 5.850) * 0.000)) * 2.000

(B el 1 |BE = EHE X (RLER + RELER + RIEER + MELER)
35.685 m2 = 5.850 * (6.100 + 0.000 + 0.000 + 0.000)

Ll 1 |EE = EHE X BEAR X (ELER + fEER + TR + METER)

158.798 m3 = 5.850 * 4.450 * (6.100 + 0.000 + 0.000 + 0.000)

HiE IR 1 |EE = EHE X (EILER + REER + RIEER + MELER)
35.685 m2 = 5.850 * (6.100 + 0.000 + 0.000 + 0.000)

RAZAE IH 1 |&E = #EHE X (ELER + RIELR + RIELER + MELER)
35.685 m2 = 5.850 * (6.100 + 0.000 + 0.000 + 0.000)

AR IH o |EE = EHIE X (ELER + RIELER + RIELER + MELER)
35.685 m2 = 5.850 * (6.100 + 0.000 + 0.000 + 0.000)

FEHIE DR L 1 [ = (GRENE X B4 - EFmfE) X LTER) + (EAE X BEA X (RELEE + RIBLER + MELER))

147.684 m3 = ((5.850 * 4.210 — 0.418) * 6.100) + (5.850 * 4.210 * (0.000 + 0.000 + 0.000))

Vi Uy 1 [BEEEEHEE = EHE X BEA X (ELER + KRIELER + AWLER + MELER)

(& dEH)) 1.784 m3 = 5.850 * 0.050 * (6.100 + 0.000 + 0.000 + 0.000)
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(b)) 1.784 m3 = 1.784
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() 158.798 m3 = 158. 798
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